SELF PRIMING




SELF PRIMING | EXPLODED VIEW

FIGURE # DESCRIPTION
PUMP HOUSING
RUBBER FLAP - CHECK VLV

—

BEARING HOUSING
WEAR RING
IMPELLER

IMPELLER NUT
SHAFT
PRIMING PLUG

O O IN| ||~ WM

DRAIN PLUG
GLAND ADJUSTER
SLINGER

il
o

—
—

—
[h*]

SUCTION FLANGE
O'RING
GLAND PACKING

-y
w

-l
i

Y
42

BEARING

@© 2024 Crightons Rural Engineering PTY LTD

02 69931768
sales@crightons.com.au

www.crightons.com
crightons_




SELF PRIMING 1 pwsus

FIGURE#  DESCRIPTION MODEL FSRIS0 MODEL FSR200 MODEL NSI00C

PART NO. PART NO. PART NO.

1 PUMP HOUSING = o =
2 RUBBER FLAP-CHECK VLV 15FSR1502 15FSR2002 15NS10023
3 BEARING HOUSING - ™ "
4 WEAR RING 15FSR1505A 15FSR2005A *
5 IMPELLER 15FSR1505 15FSR2005 15NS10021C
. IMPELLER BRONZE 15FSR1505B 15FSR2005B 15NS10021CB
6 IMPELLER NUT 15FSR1506 15FSR20011 15NS10022C34
: IMPELLER NUT 3/4" = = *
. IMPELLER NUT A/C 7/8" & " "
i SHAFT 15FSR1507 15FSR2007 15NS10016C
" SHAFT S/STEEL 15FSR1507S = 15NS10016C34SS
. SHAFT A/CLOCK 3/4" = * 15NS10016C34
! SHAFT A/CLOCK 7/8" * * i
8 PRIMING PLUG 15FSR15011 15FSR2008 15NS8018
9 DRAIN PLUG 15FSR2009 15FSR2009 A
10 GLAND ADJUSTER 15FSR15013 15FSR20010 15NS10019
! GLAND ADJUSTER STUD 15FSR15014 15FSR15014 *
1 SLINGER 15FSR15015 15FSR15015 s
12 SUCTION FLANGE 15FSR15016 15FSR20013 i
13 O'RING 15FSR20014 15FSR20014 =
14 GLAND PACKING 10mm 10mm 10mm
15 BEARING (QTY 3) 6309 6309 6307

*Not Applicable

**Not Stocked

© 2024 Crightons Rural Engineering PTY LTD

02 69931768
sales@crightons.com.au

www.crightons.com
crightons_




SELF PRIMING | PARTSLIST CONTINUED

FIGURE #

DESCRIPTION

PUMP HOUSING

MODEL NSIO0AC

PART NO.

*x

MODEL NS80C
PART NO.

=

MODEL NSBOAC
PART NO.

=%

RUBBER FLAP-CHECK VLV

15NS10023

15NS8023

15NS8023

BEARING HOUSING

L]

X

wx

WEAR RING

*

*

*

IMPELLER

15NS10021AC

15NS8021C

15NS8021AC

IMPELLER BRONZE

*

*

*

IMPELLER NUT

*

15NS8022C

15NS8022AC

IMPELLER NUT 3/4"

*

*

*

IMPELLER NUT A/C 7/8"

15NS10022AC78

*

*

SHAFT

*

15NS8016C

*

SHAFT S/STEEL

*

*

*

SHAFT A/CLOCK 3/4"

15NS10016AC34

*

*

SHAFT A/CLOCK 7/8"

15NS10016AC78

*

15NS8016AC

PRIMING PLUG

15NS8018

15NS8018

15NS8018

DRAIN PLUG

*

*

*

GLAND ADJUSTER

15NS10019

15NS8019

15NS8019

GLAND ADJUSTER STUD

*x

%

=%

SLINGER

%

*x

=%

SUCTION FLANGE

o

15NS8024

15NS8024

O'RING

wx

wr

GLAND PACKING

10mm

10mm

10mm

BEARING (QTY 3)

6307

6307

6307

*Not Applicable
**Not Stocked

© 2024 Crightons Rural Engineering PTY LTD

0269931768

sales@crightons.com.au

www.crightons.com
crightons_




SELF PRIMING | PUMP PARTS DETAIL

SHAFT DIAMETER PULLEY KEYWAY PACKING SIZE BEARING
FSR-150 42mm 12 x 8mm 10mm 6309 x 3
FSR-200 42mm 12 x 8mm 10mm 6309 x 3
NS80C 28mm 8 x 7mm 10mm 6307 x 3
NS80AC 28mm 8 x 7mm 10mm 6307 x 3
NS100C 28mm 8 x 7mm 10mm 6307 x 3
NS100AC 28mm 8 x 7mm 10mm 6307 x 3

© 2024 Crightons Rural Engineering PTY LTD

02 69931768
sales@crightons.com.au

www.crightons.com
crightons_




